RS T IR AR 112 BRAEREES 0 SIS A TG

Hl—|zZ|=|m|H]|A EETE EZHERE FHELR - HE - JEE) - EBEE
; S P I I I 1/19¢kZ&ER 1/16~1/1875— " iK% 1/20-1215 =25
1235 =% B EIER A
21 (2212312425 26|27 1/23-1/24F(RYLEE IR ReEG T /ELS
= REMRIEZS, © E4i51/29-1/30
28 12930 31 1 2 3 KEBHTRIESR | BEE2/2-2/4
a1 s|6 /| 7| 8| 9| 1028214k FEEHKME 2/6-2/T&RFEE KEMRIE « F882/5-2/7
2/15 T B4R B2 TERHEREER | BEREE L 2116221 T34 ~ BEfEFEE - RRMEAETHSE
2/165R 25 - SE3EHEIES L5} NTE—RFEIEE) | G EEwRD
— 1|12 |13 14|15 16 | 17 [2/16-2/23 16:001F > =% CEBEINIEE
2/19-2/27 16:001F. » T—5 % LR ENIREE
217521558
21975 — 25 SEIHE AR B L3R 2225 =R SRIEEEE 2GS EES) g EEHH
2/19882 4N EIE R 3R 22222 TRNEE LR GSEE E)
B 215 F EEEEG 2/23-2/26 2 LT KB 2 4 A B HEMREE R
T 18 19|20 [ 21 22| 23| 24 |50 cmiemimEmse 2/2383 31| 4%
2/22(112- )R B E R R &1L 2242 RVE M T Z0HHE
2221t ERA4A E5R
2/28F134E & H (BUR—R) 227 T R B
22T R EE AN SR RIS0% 28
_ = 2295 SR BB
2295 = N AR — R e Rt &
INERBEER
3/4-3/6EREE (112-1) HEENGZIRITHE
il I Il I I R R P e T
311-4/12EREER% LR 012-1) 3/7-3/8 B EEEHEE(T)
MR BRERES N0 EHHEE VS EELELREL
ol B e el Rl e Rl 315 N SCR L EERARL
3/16-331 =24 ZLLE - EAEE
3120-3272 A B R EHR(12-)EERERTER 3/21-3/22&REIREAF%E IN9EE-TEERHANERE » FESEFHNEFIRERLS
7=
Nl17]18[19]20]21|22]23 3/20-3/22 K2 N\ HHsE
IRVEERER L (-TEEED 21:001F
3/23-3/24 AL AR B B & 4 A BT R S
3/24-3/25 H A KBRAT B 3R 5H I28E = REBHFEASREIGREBRER NS
24 l25]26]27]28]20]30 325 = A 12-1) HETEERME 3288 B L EE (R AF)
3/25-3127 RN R I28E =B AN FEEEEREERE S
3/27-3/292: B BH& Troy itk 5k
g 4/4 R EIRUR
A3t T2 34|56 lusemmnm
4TE=EA T E ) B TIRERRE ) BEREEL 495 = F o IEHF AN TSR E
sl 718l olt0]u]iz]s 4105 TR E =BT R RS
NG =R EFEEER RN L TRAS L
4/1285 0 = BB AR ) B RERR R
4165 =L TR FHEFEERERSER 415-419EFIEERNER 4185 =8 N\ R EART TR E
418Fm—H FE 42075 S| B
+l1a|15f16|17]| 18] 19|20 R—HERHEME 4/22gg$§§§§§§
4/19- 26 Z L BT K EBE Y Z 4L 2B MR
+ 4/21-4/26 H R BB BB AT 4/25R YR S
P21 |22 2324252627 4/2SHEARE S sk
5/17 3R AR ADE 4/29-4/3075 =K% SaeBFERRILEEEE
f w2030 | B 2| 3| 4 |S2E—mBmEAR SAEREHTE
— 1 527 SHIR S A B AL
+ 59 =8 T EHREET A HRELE 5/8-510/F— ~ m_F2REAFE  |5/6-5/107 =1 A H A HEE =
| se| 7| 8|9 |10]11 |510E=562HHRE LEEIL 5/8% = TR EEE
B 5155 5% ZimrE AR R A 5N5E =T 2% 5/13-5/17% = {8 \ B A E
o 1213|1415 16 | 17 | 18 |5SNTFFEREEIETAIRE R FHE-12:00/2) 5/13-5/207—354H
5/18-5/19FHEHEE 5/17TEBET AR B 4 B R B R
; 10120121 122123 24 | 25 S22 E = HE R E N 519 LI KEE T 4% £ Al E EARE F4H S8 — FEEMITRIE &
i 26 1271 28 | 20 | 30 | 31 71?5/28-5/29%ET%§£%%$%E?$1%Eﬁ%(%ﬁ%%%ﬁ(i‘%lﬁ)
/\
6/3%r i EERE (KRB HL ) 6/65m— ~ —HEFEREFEEREN) |6/ 3HIARHFEEABERFIAE
1,03 lalslelnls 6/475 = BEHGTHE 6/6-6/7 KR IEHFEN B s S
+ 6/SE=HEHE - BB IEE LR 6/6-6/18y FLRIER ¥R+
6/5— _E SETHE R ER—K
4 6/10074-6f /12 SEPEATRL (= - BEE - |6/13 KRER(E N RS RS
. 9 (10|11 |12 13]14] 15 |6/13HERE—KLH fEdR) F& 6/13-6/16 K EBERSE SR VAL =& L
/ 61T EEPET R (2388) F 6/13-6/168 2 IR L CESIHERT)
j{ 1617181920 21122 O/ — R R R R LR
- . 628tK%ER - RESS 6/25-62T5— ~ B HAK=
i 23 2425|2627 28] 29 6SH BT
30 11: 213|4|5]|6
719 1N0E—5 —Ff% 719 AR A TS
71819 10f11]12]13 1M1 AN BT A R E(
7/12-711353 %R Es
1415|1617 ] 18| 19 | 20 |7/15-8/92FREFER (T T) TN HREE R
21 | 22 | 23| 24 | 25| 26 | 27 |7/23- 125 /BB (112-2) M ERITEE 7129878 Sy R HIER R AR B




